
Spare parts list
(1.107-278.0) G 3800 OHT

25.08.2017 www.kaercher.com EN



Table of contents

Page 2 / 20

G 3800 OHT (1.107-278.0)           3
10 SPARE PARTS LIST, G 3800 OHT           4

10 FRAME           5
20 PUMP SET           7

21 PISTON           8
22 UNLOADER VALVE         10
23 PUMP-UNLOADER VALVE           12

30 Motor           14
31 Motor           15
32 Transmission           17

40 ACCESSORIES           19



G 3800 OHT (1.107-278.0)

Page 3 / 20

POS Description Quantity Unit
10 SPARE PARTS LIST, G 3800 OHT 1.000 ST



10 SPARE PARTS LIST, G 3800 OHT

Page 4 / 20

POS Description Quantity Unit
10 FRAME 1.000 ST
20 PUMP SET 1.000 ST
30 Motor 1.000 ST
40 ACCESSORIES 1.000 ST



10 FRAME

Page 5 / 20



10 FRAME

Page 6 / 20

POS Article no. Description Quantity Unit Foot note text
1 9.196-049.0 Nylon Rivet 4.000 ST ARTICLE ONLY AVAILABLE AT KNA
2 9.134-022.0 Name plate 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
3 8.923-212.0 HOSE HANGER WELD ASSY, UNIVERSAL 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
4 8.923-199.0 ASSY HOLDER, HANDLE TITANIUM 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
5 9.182-353.0 KNOB 1/4''-20,3PT. STAR 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
6 9.196-307.0 1/4-20 x 1-1/2 GR 2 HEX BOLT ZINC 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
7 9.802-714.0 BOLT, 5/16" X 1-3/4", NC HH 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
8 9.183-411.0 Rubber buffer 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
9 8.754-186.0 QH WHEEL ASSY, 10" GRAY STEEL RIM W/TUB 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
10 9.182-506.0 CAP BLACK PLASTIC,5/8''FASTENER 2.000 ST ARTICLE ONLY AVAILABLE AT KNA
11 8.923-210.0 GROUP, FRAME O TITANIUM 1.000 ST ARTICLE ONLY AVAILABLE AT KNA



20 PUMP SET

Page 7 / 20

POS Description Quantity Unit
21 PISTON 1.000 ST
22 UNLOADER VALVE 1.000 ST
23 PUMP-UNLOADER VALVE 1.000 ST



21 PISTON

Page 8 / 20



21 PISTON

Page 9 / 20

POS Article no. Description Quantity Unit Remark Foot note text
1 8.754-462.0 KIT, PUMP SEAL, HIGH/LOW PRESSURE 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
2 8.754-463.0 KIT, PUMP OIL SEALS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
3 8.754-550.0 KIT, PUMP CHECK VALVES, 1508A 1.000 ST G 3500 OCT MODEL ARTICLE ONLY AVAILABLE AT KNA
3 8.754-464.0 KIT, PUMP CHECK VALVES(1506.5A) 1.000 ST G 3200 OCT MODEL ARTICLE ONLY AVAILABLE AT KNA
4 8.754-465.0 KIT, CHECK VALVE CAPS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
5 8.754-466.0 KIT, PUMP O-RINGS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
6 8.754-467.0 KIT, OIL DIP STICK 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
7 8.754-468.0 KIT, OIL DRAIN CAP 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
8 8.754-469.0 KIT, PUMP BEARINGS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
9 8.754-470.0 KIT, PUMP PISTONS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
10 8.754-472.0 KIT, LOCK RETAINER 1.000 ST ARTICLE ONLY AVAILABLE AT KNA



22 UNLOADER VALVE

Page 10 / 20



22 UNLOADER VALVE

Page 11 / 20

POS Article no. Description Quantity Unit Foot note text
1 8.754-457.0 KIT, UNLOADER, STEM REPAIR 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
2 8.754-458.0 KIT, UNLOADER CHECK VALVE 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
3 8.754-459.0 KIT, UNLOADER OUTLET FITTING(1506.5A) 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
4 8.754-460.0 KIT, UNLOADER EZ/CHEMICAL VALVE 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
5 8.754-461.0 KIT, UNLOADER FLAT SEALS 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
6 8.754-549.0 KIT, UNLOADER OUTLET FITTING, 1508A 1.000 ST ARTICLE ONLY AVAILABLE AT KNA



23 PUMP-UNLOADER VALVE

Page 12 / 20



23 PUMP-UNLOADER VALVE

Page 13 / 20

POS Article no. Description Quantity Unit Remark Foot note text
1 8.754-471.0 UNLOADER, WZ SERIES 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
2 8.754-328.0 TRIPLEX PUMP, 2.5GPM@3200PSI,

3400RPM,DD
1.000 ST G 3200 OCT MODEL ARTICLE ONLY AVAILABLE AT KNA

2 8.754-327.0 TRIPLEX PUMP, 3.2GPM@3600PSI,
3400RPM,DD

1.000 ST G 3500 OCT MODEL ARTICLE ONLY AVAILABLE AT KNA

3 9.802-722.0 BOLT, 3/8 X 1-1/4", NC HH 4.000 ST ARTICLE ONLY AVAILABLE AT KNA



30 Motor

Page 14 / 20

POS Description Quantity Unit
31 Motor 1.000 ST
32 Transmission 1.000 ST



31 Motor

Page 15 / 20



31 Motor

Page 16 / 20

POS Article no. Description Quantity Unit
1 6.491-347.0 Cap of a tank complete 1.000 ST
2 7.777-999.0 Stockpiling discontinued 1.000 ST
3 9.194-501.0 Tank 1.000 ST
4 6.491-348.0 Seal 1.000 ST
5 9.194-509.0 Cover exhaust 1.000 ST
6 9.194-518.0 Screw M4X6 1.000 ST
7 9.194-507.0 Exhaust complete 1.000 ST
8 9.194-522.0 Wing nut 1.000 ST
9 9.194-499.0 Cover blower 1.000 ST
10 6.491-345.0 Air filter insert 1.000 ST
11 6.491-350.0 Starter rope complete 1.000 ST
13 6.618-090.0 Ignition plug 1.000 ST
14 9.194-514.0 Spark plug connector 1.000 ST
18 9.194-496.0 Joint ring 2.000 ST
19 9.194-495.0 DRAIN SCREW 1.000 ST
20 9.194-526.0 Washer 1.000 ST
21 9.194-520.0 Bolt 1.000 ST
22 6.491-176.0 Parallel key 6,3X36 1.000 ST
23 9.194-492.0 Oil level gauge 1.000 ST
24 6.288-050.0 Engine oil 1L 1.000 ST
26 9.194-516.0 SCREW,TAPPING 4X6 GX160 MUFFLE 1.000 ST
27 9.194-505.0 Exhaust 1.000 ST
28 9.194-524.0 Nut 1.000 ST



40 ACCESSORIES

Page 19 / 20



40 ACCESSORIES

Page 20 / 20

POS Article no. Description Quantity Unit Remark Foot note text
1 8.755-093.0 Versa Grip,Bulk Gun 1.000 ST ARTICLE ONLY AVAILABLE AT KNA
2 9.112-535.0 REMOTE PRESSURE CONTROL 1.000 ST G 3800 OHT ARTICLE ONLY AVAILABLE AT KNA
2 9.112-533.0 Lance-AL Quick Connect-Male 3000

psi
1.000 ST G 3500 OHT ARTICLE ONLY AVAILABLE AT KNA

3 8.755-088.0 NOZZLE KIT COMBINED 030/040 1.000 ST G 3800 OHT ARTICLE ONLY AVAILABLE AT KNA
3 8.755-087.0 NOZZLE KIT COMBINED, 025/030 1.000 ST G 3500 OHT ARTICLE ONLY AVAILABLE AT KNA
4 8.916-740.0 Hose, 3/8" x 50', 1w, TS, SOXSW 1.000 ST G 3800 OHT ARTICLE ONLY AVAILABLE AT KNA
4 8.920-556.0 HOSE 3/8X25', 1W, TS KARCH,

PLUGXPLUG
1.000 ST G 3500 OHT ARTICLE ONLY AVAILABLE AT KNA

5 9.801-961.0 O-RING, ERGO-GUN M-22 MALE LANCE
CON.

1.000 ST ARTICLE ONLY AVAILABLE AT KNA

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	G 3800 OHT (1.107-278.0)
	10 SPARE PARTS LIST, G 3800 OHT
	10 FRAME
	20 PUMP SET
	21 PISTON
	22 UNLOADER VALVE
	23 PUMP-UNLOADER VALVE

	30 Motor
	31 Motor
	32 Transmission

	40 ACCESSORIES



